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1. 1.14 expressed as a per cent of 1.9 is 225=Xx 0.5086O 20%, x df’ae)é?
[SSC CGL 2010] (c) 70 (d) 95
(a)6% (b) 10%
(c) 60% (d) 90% 8. Simplify 56% of 225 + 20% of 150 = ?
225 BY 56% + 150 3O 20% = ?
2. Half of 1 per cent written as a decimal is (a) 148 (b) 156
(a) 0.005 (b) 0.05
(c) 0.02 (d)o.2 9. Find the value of k.
40% of 75 + 80% of 25 = k% of 250
3. What per cent of a dayis 3 h? K dfaozsd@x B0R)HAO.
= ?
OO B, S G ey 7588 40% + 25 B 80% = 250 BO) K
2
(a)127%2 % (b) 165% (a) 10 (b) 20
2 (c) 30 (d) 35
(c) 185% (d)22 % /%
10. Find the value of ? 75% of 450 + ?% of 560 = 600
4.33 out of 60 is %. SPYBY B0TRBAND?
0,
60 3O 33% esNG3. [RRB Group D 2018] 560 = 600 G 450 + 2% GO 75%
(a) :Z (Z) 2‘2’ (a) 52.385 (b) 46.875
(c) (c) (c) 42.155 (d) 40.555

1 0, 0, ?
5. What is the value of 10% of 150% of 4007 i mm—

400 BQ 150% BQ 10% T S7°¢); om)? 21% of 500 + 31% of 1100 — 30% of 790 = ?
[SSC CGL 2017] ai)’ét)éaiabd 30 HAO
(a) 600 (b) 50 . .
— % = ?
(€] 500 (d) 60 500 B8 21% + 1100 3O 31% — 790 B 30% = ?
(a) 209 (b) 290
6. What is the value of 72% of two-fifth of 450? (c) 309 (d) 390
450 deDm DTIe TR Wonad 72% d}’ao&s OR)?
I T 12. Simplify 52.5% of 800 +30.5% of 2800 = ?
a . 5
- 0 0 = 9,9
() 324.2 (d) 162.6 2800 = 800 BE) 52.5% +30.5% =) FOVrRD?
(a) 1274 (b) 1370
(c) 1680 (d) 1196

7.20% of 225 = X x 0.5, then the value of x is
Hage |
1
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13.56% of Yis 182. What is Y?

Y S 56% 182. Y Q0B3TeD?

[IB Security Assist. 2017]
(b) 364

(d) 330

(a) 350
(c) 325

14. If x is 80% of y, what per cent of x is y?

X, y o 80% e3NJT, x & Beswe o), y 8NS?
[RRB ALP 2019]

(b) 80%

(d) 125%

(a) 75%
(c) 100%

15. If 40 is 0.05% of x, then what is the value of x?
40, x & 0.05% 8NZ3, x 3 53’90?5 OR)?
[SSC CGL 2017]

(a) 80000
(c) 800

(b) 8000
(d) 80

16. If 50% of (p — q) = 30% of (p + q) then p : giis equal
to
50% (p—q)=30% (p + q) 8NG3, p : g B oITNDHZT

[SSC (10+2) 2010]
(a) 5:3 (b) 4:1
(c) 3:5 (d)1:4

17.1f 90% of A=30% of Band B=2x% of A, then the value
of x is

90% A = 30% 239,00 B = 2x% A 0i7oNG3, &7 x & &35
[SSC CGL 2011]

(a) 450

(c) 300

(b) 400
(d) 150

18. I1f 30% of (B — A) = 18% of (B + A), then the ratio A :
B is equal to

30% (B — A) = 18% (B + A) 8NG3, A : B 9)ze3y)

EUMPINARIale ] [SSC CPO 2010]
(a)4:1 (b)1:4
(c)5:4 (d)5:9

19. What is the value of twenty four per cent of four-
ninths of five times square of twenty seven?

VBR) O¥C O Jey, WST Tewy, wOSTY
VB B, TS B ) ?
(a) 388.8 (b) 376.8
(c) 378.6 (d) 346.6

20. A number exceeds 20% of itself by 40. The number
is

20T Dosdodw 40 BoB 20% R, WEDIT. &8 Fosd;

O pa) a) [SSC (10+2) 2013]
(a) 50 (b) 60
(c) 80 (d) 48

21. If 120 is 20% of a number, then 120% of that
number will be

120 &, Doafd 20% eAPS, e [oajad 120%

o@ NS [SSC (10+2) 2013]
(a) 20 (b) 120
(c) 360 (d) 720

22.1f 30% of A'is added to 40% of B, the answer is 80%
of B. What percentage of A is B?

A od 30% @ﬁg( 40% B i ©eDITT, ev33y) 80% B
N3, A b Teswemed om), B?

[SSC CGL 2011]
(a) 30%
(c) 70%

(b) 40%
(d) 75%

23. If 25% of a number is 6, then what is the number
which is 50% more than the initial number?

2000 ﬁoa%od) 25%, 6 8NGT, 38003 ﬁo&%ﬁoé 50%

Bed) a3 Sosl; adreRIcD? [SSC CPO 2017]
(a) 36 (b) 24
(c) 30 (d) 18
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24. When 75 is added to 75% of a number, the answer
is the number. Find 40% of that number.

2,03 50352501) 75% 13 75 emg( eddTen, eVSTY) &
50&)’25013??\6. es 5035601) 40% @330( B0 OO

[SSC CGL 2014]
(a) 100
(c) 120

(b) 80
(d) 160

25. A's salary is 20% less than B's salary. The B's salary
is more than A's salary by

AR Se3TY B 0 Se33,08 20% 3BH03eNG. B ob
SeBIY) A ab Fow¥d 08 ar), BeIYNDHZE
(SSC MTS 2013)
2
(b) 16 3 %
(d) 25%,

3317
(a) 33 %
(c) 20%

26. If a number A is 30% less than another number B
and B is 20% more than 150. then what is the value of
A?

A 50&)’6011) B No3 30% S@&&)Qﬁ, B 50&)’60.’11) 150
3,03 20% &3&. ey A o dﬂozs oa’%?

[Delhi Police Constable 2017]

(a) 144 (b) 156
(c) 136 (d) 126

27. If a number multiplied by 25% of itself gives a
number which is 200% more number, then the number
is

ﬁoas’zsoin 25% Dor Me3dman 200% éa;d ﬁoaféobdg(

eBTT, es Fosd; cdreID? [SSC CGL 2012]
(a) 12 (b) 16
(c) 20 (d) 24

28. Two numbers are respectively 25% and 40% less
than a third number. What per cent of the first is the
second?

ATD VoD  FDwoN 25% DI  Swede
SosdNod 40% BBD. SPBOSWBIY STEI A

OR), TESWa? [SSC (10+2) 2013]
(a) 60 (b) 70
(c) 40 (d) 80

29. The sum of 15% of a positive number and 20% of
the same number is 126. What is one-third of that
number?

B3, 8 Jodadh 15% D) ode Josad 20%
Sp3Y 126 N3, & Joadad @wedSe 2o 2yer
WreR@D?

(a) 360
(c) 120
(e) None of these

[IBPS Clerk 2012]

(b) 1080
(d) 40

30. When a number is increased by 69, it become 103%
of itself. What is the number?

2003 r-doa%cmag 69 80T B3I, VD I3 103%

B3 & Fosd; ARRD? [SSC CGL 2017]
(a) 1300 (b) 300
(c) 2300 (d) 4300

31.A'sincome is 10% more than B's income. how much
per centis B's income less than that of A?

AR smodyy B ob ewmeodd, 08 10% ®ad),. B ob
e300 A Nod o), Te3we BN ?
[SSC CPO 2018]
1 0,
(b) 91 Tl %
(d) 9%

111‘7
(@) 115 %
(c) 10%
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32. If Ais 20% more than B and C is 20% less than &
then Cis how much per cent less than A?

A, B Nod 20% 84,33, C NoB 20% 38 S3) S033
C Q0D A No3 oa’% BB BAN?

(SSC MTS 2018)
(b) 44%
(d) 50%

(a) 40%
(c) 33.33%

33. A's salary is 20% lower than B's salary, which is 15%
lower than C's salary. Byl much per cent is C's salary
more than As salary?

A ob Se383) B 0 Se3:E, 08 20% 3B adreNds, Awd
cod deéaﬁ%‘,}oé 15% 3830350 3. ao’zi)u BEeBTIDIR)
C R BowdY ABowFd, 038 Bedade?

(a) 44.05% (b) 45.05%
(c) 46.05% (d) 47.05%

[AFCAT 2017]

34. Fifty three per cent of a number is 358 k than the
square of 26. What is the value three-fourths of 23% of
that number?

26 O Ied,08 OISR B)3833 358 k. €3 —m’oajzsoi)
23% 3 mcdeg moﬁc d)’be)25 oa-igg?
(a) 101 (b) 109.5

(c) 113 (d) 10.35
(e) None of these

35. In an examination A got 25% marks more than B, B
got 10% less than Cand C got 25% more than D. If D got
320 marks out of 500, the marks obtained by A were

SOEZDO A bID B NoB 25% Bed) ©0BRYRY,
SETD, B 03D € Mo 10% 38D IEBD S € D
Mod 25% @)y BFTD. D 500 TY 320 0BNRYRY,

SBT3, A 3BT 9037 [SSC CGL 2013]
(a) 405 (b) 450
(c) 360 (d) 400

36. Five-ninths of a number is equal to twenty five per
cent of the second number. The second number is
equal to one-fourth of the third number. The value of
the third number is 2960. What is 30% of the first
number?

OT-woBTe Joday ATBIe Josdad VB I
B3B3, JFeSoNDBE.  FVBEID  Fosdodw
dwdde  Jodod  JeuSe  wodd  nd,
SRroRmNDBE. Bwede Sosdod &Py 2960.
SRTL Tossad 30% &),?

(a) 88.8 (b) 99.9
(c) 66.6 (d) Cannot be determined
(e) None of these

37. 3850 students appeared for an exam and out of
them 18% were failed. What is the respective ratio
between the number of students who passed to the
number of students who failed in the.exam?

3850 QDR B0eZrt HRoINGD D) WSO
18% ©DIeFONDYT.  GVSLEFTITB  JTYRENY
Rosds DD BOFoDO D SeeFTIB,  JwyBEMY
oMY ST DTS aa),?

(@)41:9 (b)43:9
(c)47:9 (d)41:7
(e) None of these

38. In final exam of class IX, there were 50 students and
out of them 10% students were failed. How many
students were passed for class X?

93¢ Sondodh o3 BOeZohY 50 BV,
S0 10% IWRRENWD DSeearvoNwys. BSe

BSOS o), ITYRENMH sudeearToNwgs?

[Delhi Police MTS 2017]
(b) 45
(d) 48

(a) 40
(c) 47
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39. A man saves 16% of his total income of X 5000 per
month. How much does he spend?

o) B30k Sonert S wed), 8weadd X 5000 16%
UIDTIS. VB OR), YeDF DS ?

[Airforce Group Y 2018]
(b) 5800
(d) 9000

(a) 4200
(c) 8200

40. In the annual examination, Mahuya got 10% less
marks than Supriyo in Mathematics. If Mahuya got 81
marks then the marks scored by Supriyo are

Doded B0LZAbY), DR Ne3BBTY Tdy0deNo3
10% 38D ©oznvRy IBODIS. DIalye 81 ©03
BBOPT DYy0dee NPT LOBNRY

[SSC (10 + 2) 2013]
(a) 87 (b) 88
(c) 89 (d) 90

41. Nikhil bought a painting at a certain price and sold
it at X 462000 which was 10% more than the original
price. What was the price at which Nikhil bought the
painting?

DS QB Bt Seoedort 0eDI X 4620003,

Sevews SeBR), Swee BSNoZd Fe.100R), Ted),.

ADEF Seoedont wOeDAT 23¢e3 O,?

(a) X 420000

(b) X 440000

(c) X 402000

(d) Cannot be determined
(e) None of these

42. Reshma's monthly income is 22% more than that of
Neelam. If Neelam's monthly income is X 3500, whatis
Reshma's monthly income?

Seame, S0 Sed3 By AewoNod 22% Hed),.
Qe0 33 or¥ eweod X 3500 BNG3, Seewe, ST

3onY s8maad cbaigd?

(a) X 4270
(c)X 4170
(e) None of these

(b) X 4320
(d) X 4430

43. Rani's weight is 25% that of Meena and 40% that of
Tara. What percentage of Tara's weight is equal to
Meena's weight?

Toe30d) BRI e VTV Bp3,08 25% ) So0°
030 Bedd,08 40%. o0 BT BRBW BeSBowed)

eve BBT Bed3, IreweNE?  [SSC CPO 2011]
(a) 160% (b) 140%
(c) 120% (d) 100%

44, Ron scored 344 marks out of 400 marks and his
elder brother Ben scored 582 marks out of 600 marks.
Who scored percentage is better?

Tox’ 400 03PN 344 OBMYRY, MYITW), BT SO
VBRETT I 600 OBV 582 OBRYSY MPITYT.

VB FeBToDD NRITSD?

[Delhi Police MTS 2017]
(a) Ben
(b) Ron
(c) They both scored the same percentage
(d) Data is inadequate

45. Disha scored 35 marks in Geography, 32 marks in
History, 29 marks in Science, 40 marks in Mathematics,
36 marks in English and 33 marks in Hindi. The
maximum marks in each subject are 50. What is Disha's
approximate percentage?

Bz werteedzIREY 35, R3FIRTY 32, AREY
29, NSSBO 40, WONFIY 36 A HOBADY 33
©03MYR) NPITT. B3 IBADTO O3 03Mw 50.

DT 9DT LI0TIR) T BT oR),?

(a) 68% (b) 63% (c) 58%
(d) 53% (e) 76%
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46. If 4 L of water is evaporated on boiling from 12 L of
salt solution containing 7% salt, the percentage of salt
in the remaining solution is

7% UB, BoDDI 12 Ot VAT BT
AT 4 O D B8AWTT, VIT TTBETO
VDS Bjereed Be.

[SSC CPO 2010]
(b) 11.5%
(d) 13%

(a) 10.5%
(c) 12%

47. Samir scored a total of 455 marks out of 800 marks
What was
percentage in the examination?

Jeo®  B0egdeordBy) 800 IOBMYY  2.ED, 455
©OBNYR) MOITYS. =0 oI Woweed

DeBTIDIA) oa)’d?

in an examination. his approximate

(a) 60% (b) 52%
(c) 54% (d) 62%
(e) 57%

48. 75 pupils from a school appeared for an
examination and 80% of them passed. From another
school, 10 pupils more than the first school appeared
for the examination and 5 pupils less than that passed
from the first school, were passed. The percentage of
passed pupils in the second school was

20T Tadod 75 JwyBeniwd B0egr dowTeNGD
DB ©IBY 80% ITYURENW  sVSeearTaNTRT.
¥iR,0m To3dhoBW BT TeIN0B 10 ITYRENW
Bed), B0eBrt TowoNGD D) Berde FeIdod 5
BN BB evdeearTeNyd. B,dead Todobd

eV3eEETIT ci’)mé@m*é @decs Te  [AFCAT 2018]

(a) 75% (b) 84%
(c) 72% (d) 64.7%

49. A jar contains 10 red marbles and 30 green ones.
How many red marbles must be added to the jar, so
that 60% of the marbles will be red?

20T 2590° 10 30y reedndy SR 30 BID
WEBTY, BRODDIT. w07 o), 0D RN,

TeoTIed, @xsdod 60% - reediR Bo)
WEWINDZI?
[SSC CGL 2012]
(a) 25 (b) 30
(c) 35 (d) 40

50. Pradeep invested 20% more than Mohit. Mohit
invested 10% less than Raghu. If the total sum of their
investment was X 17880, how much amount did Raghu
invest?

e . JetkE Nod Fe200x), ), BRES
SeBwed. Recde  Tewhos  10% 38D el
SBBD. ST BRBBAD e, S X 17880 S8NGT,
Oz Be08 83 S8 a),?

(a) X 6000 (b) X 8000
(c) X 7000 (d) X 5000

51. The price of rice is increased by 60%. In order to
restore the original price, the new price must be
reduced by

8, 3 Be.600m), HOBWRNG. [ Sabry
DT, BT BSWRY, o), 38D FreReeD

[SSC CGL 2016]
(b) 37 % %
(d) 45%

(a)33% %
(c) 40%
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52. A water pipe is cut into two pieces. The longer piece
is 70% of the whole length of the pipe. By how much
percentage is the longer piece longer than the shorter
piece?

A0S ;& O AT@D YenniweN 3Z0JUerHET.
VBT DO By FOJPEE VZT 70% SNT. ),

Fesmowed) HUZE 0w 33, Dew3N03 BLgeeNd?

[CDS 2014]
400
(a) 140% (b) = %
(c) 40% (d) None of these

53. A contractor pays 25% more to a male worker than
what he pays to the female worker. How much per cent
less does the contractor pay to the female worker than
the male worker?

2R, MHERDITRD Do Bocbed0r Bp@DJTE,03
25% Bed) YDA FOIMITAT TOSSDTIS. YD
SoEB0N0Z MEMmeTDd Dowe  FochesOrt owm),
Ze3@e BRD DoB3WST?

(a) 15% (b) 20%

(c) 25% (d) 10%

54. When the price of an article was reduced by 20%,
its sale increased by 80%. What was the net effect on
the sale ?

200 SIS B3y 20% TR), 3BSadrewent, B3
30003y 80% T, éesgcma). D00L3T eed &')d;é
BOTOR O?

(a) 44% increase
(c) 66% increase

[SSC CGL 2011]

(b) 44% decrease
(d) 75% increase

55. Two successive percentage of 10% and 10%
increase in price of an article is equivalent to a single
percentage increase of

20D SRR BSaDO 10% DR) 10% T ISB ATD

ol Ir) aﬁag%}@ 2003€ TEBIToDID) éagvéé
dd)mﬁd@d [SSC CGL 2010]

(a) 19% (b) 20%

(c) 21% (d) 22%

56. A number is increased by 10% and then the
increased number is decreased by 10%. The net
increase or decrease is

203 B0s,00R) 10% BRINT H3) B033 BeI3
RBog,ab) 10% O, BBD SeBUNS. AZY B
BT VS [SSC MTS 2014]

(a) 1% decrease
(c) 0.1% increase

(b) 2% increase
(d) 0.2% decrease

57. If a number is increased by 20% and the resulting
number is again increased by 20%, what per cent is the
totalincrease?

20T Do oY, 20% BYITS D) $OZ003T
Qo obRY, DB 20% BB, we), BEY ow®)?
[SSC CPO 2010]

(b) 44%
(d) 40%

(a) 48%
(c) 41%

58. The price of an article was first increased by 10%
and then again by 20%. If the last increased price is X
33, the original price was

200 SWAR TSR, ST 10% HI) F030 D3I
20% Be3Fadh. ZeRabmeN B3 3¢S X33 8NGY,

o0 33 O ? [SSC CGL 2010]
(a) %30 (b) X 27.50
(c) X 26.50 (d) %25
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59. A machine was bought for X 42000. Its value

depreciates at a rate of 8% per annum. Find the value
of the price after a year.

20 aboZBRY X 420003, OedTIING. TS
D SREB, 8% BOTY BDIWWIT. wod IRET
ST BeJab SPUEERY BoDHBO.

[RRB Group D 2018]

worth 3 yr ago was

oW IPYUD) &8 SRET BB0PIBY ©BT SPT
e 10% TORY) B3 BREFp  ISZVAWDSS.
hoZB BB S X 729 8NZY, ©BT S 3
IRENY 00T

61. The population of a town increases by 5% in the

20D BEIET adﬁoa%oin STV IIEBE 5%, DTBe
IREBY 6% DB) [edFe IRRY 8% TR),

BRrH3B. 306 SRS BT, 120204, 3 IRV

62. The population of a town is increased by 5% at the
end of the first year and decreased by 4% at the end of
second year. If the population at the end of second
year was 5512248, then the population at the
beginning of first year was

B30T WIV0ss0dw BB IRET BRI 5% T,
BIMHBT DR) OTBIe IRFB BPIY 4% OR),
3BDHANTE. oTBIe JRFB BpIabY  wITVosd

(a) 237800 (b) T 36540

(c) X 38640 (d) X 40000 5512248 &NG3, S0 IRFB 8T0IBY BIT08;
DD?

60. The value of a machine depreciates every yea at the DR [SSC CPO 2019]

rate of 10% on its value at the beginning of that year. If (a) 5572950 (b) 5623012

the current value of the machine is ¥ 729, then its (c) 5468500 (d) 5300420

63. During the first year, the population of a village is
increased by 5% and the second year, it is diminished
by 5%. At the end of the second year, its population
was 47880. What was the population in the beginning
of the first year?

SRTBL IRETY, w0oW B WIToF 5% T,

[SSC CGL 2013]
(a) X 947.10 (b) X 800 BWHIT D) oddIe IABY OB 5% TR,
(c) X 1000 (d) X 750.87 BRDWHSE.  OTERe: SRV | BpJobY, ©T3

BRT0ss,0dy 47880. BB SBFB BT BP0,

first year, by 6% in the second year and by 8% in third OR)? [SSC MTS 2014]
year. The present population of town is 120204. What (a) 45500 (b) 48000
was the population of the town 3 yr ago? (c) 43500 (d) 53000

64. In an examination, a student had to obtain 33% of
the maximum marks to pass. He got 125 marks and
failed by 40 marks. The maximum marks were

&0 BEIJET amﬁoa% om)?  [SSC(10+2) 2016] 20egabe), 2r) UapRAIJOWIGVERA I rT BN nos
(a) 102000 (b) 100000 0037y 33% e, SBAesNI). 125 @03 IBD 40
98000 d) 101204
) @ 08 B BB BerrTeNG. HOF 08 )?
[SSC CPO 2010]
(a) 500 (b) 600
(c) 800 (d) 1000
Hage |
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65. In a test, Rajesh got 30% marks and failed by 40
marks. Sonal got 70% marks which was 70 more than
the passing marks. What was the maximum marks of
the test?

B0e503000T) Tederf Te.30 03 JIWD 40 03
aBD oDIecrmoNg. Tpesef 70% ©ow3 70
©OBNYRY, TaR0TT 03PN Bed), SEBD. BOeGod
n0g ©osnw om),?

(a) 150
(c) 275
(e) None of these

(b) 375
(d) 300

66. In an examination, it is required to get 64% of the
aggregate marks to pass. A student gets 440 marks and
is declared failed by 9% marks. What are the maximum
aggregate marks a studentican get?

B0eBADY, eVEeEIFTIMED 0L, | WOBTFY  64%
SBID OBFB. W) JDYBE 440 VOISR,
SBwTIS DB 9% VOBNYIY DIeF D0W)
SREATUDSE. 2 JoyBrody  BEbwBTT
ROE wEd), OB Wrey?

(a) 850 (b) 780
(c) 900 (d) Cannot be determined
(e) None of these

67. In order to pass in an exam, a student is required to
get 780 marks out of the aggregate marks. Sonu got
728 marks and was declared failed by 5%. What are the
maximum aggregate marks a student can get in the
examination?

B0egab  BueesrTorien, 2wy ITYBFAD e,
©O3NYY 780 ©0o3M¥R) Sdabeled. Weed 728
WoBNYRY, IJED  Fe.50R,
0B oy drody IBobwBTen NOF  we,
©03RW WeIJ)?

b 3eearoaNmT.

[RRB Clerk 2018]

(a) 1040
(c) 1000
(e) None of these

(b) 1100
(d) Cannot be determined

68. In a test, minimum passing percentages for girls
and boys are 35% and 40%, respectively. A boy scored
483 marks and failed by 117 marks. What is the
minimum passing marks for girls?

20egadhe), BBDNALD DB) BRNT Bg svdeesr
ST DTN 35% DB) 40%. ) LS
483 003 ITEW 117 803 IFD ODSeFTNTYS.

DWDNODLOT BAG svBeesr 90BN OR)?

[CBI PO 2010]
(a) 425
(c) 500
(e) None of these

(b) 520
(d) 625

69. In an election between two candidates, 70% of the
voters cast their voters, out of which 2% of the votes
were declared invalid. A candidate got 7203 votes
which was 60% of the total valid votes. Find the total
number of voters enrolled in that election.

QYD FBNY | [SBDII  whPeIEALY,  70%
DBTCD B, DBWTTRY, 3eTdITD, BT
2% BN, OIS0  FReATUIIAD. 22
I BFaly 7203 BNV, BEBD, VW e, IR
B 60% SNR). &8 PSP FeeomedheTod
2t SHBwe08 Foad o, B0 HBAD.

[AFCAT 2018]
(a) 18050 (b) 17500
(c) 17000 (d) 7203
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70. In an election between two candidates, 75% of the
voters cast their votes, out of which 2% of the votes
were declared invalid. A candidate got 9261 votes
which were 75% of the total valid votes. Find the total
number of votes?

D OPYRMY IDAIT  DIeSBDY,  75%
DBBD B, DBNYRY, WeTedLITD, VBT 2%
DI, V0T Q0T FRLATUIAD. )
3Dy 9261 BNV, BEBD, VW wey), BT,
DINY  75% oSN, vy, DINY  Fosd;oby,

B0RHBNO? [IDBI Executive 2018]

73. If the price of kerosene be raised by 11%, find by
how much per cent a house holder must reduce his
consumption of kerosene so as not to increase his
expenditure?

2ehomad SIabr 11% B3 STT, 22y, DITTRD
33, B, B3B3 dechogad wYEabR Fedmd
o) 38D Fraceied?

(a) 11%
(c) 11.09%

[AFCAT 2018]

(b) 9.9%
(d) 8.25%

74. The price of sugar increases by 20% due to the
festive season. By what percentage should a family
reduce the consumption of sugar so that there is no

(a) 16800 (b) 15800
(c) 16700 (d) 15700 change in the expenditure?
(e) 15400 &?2% Gfelanviateleiaptal 5866 2363 58.2063’&5 &0303N3.

71. The price of electricity has been increased by 25%.
If a person wants to keep the expenditure same, then
the percentage reduction in use of electricity should be

(:)CS.)?S@G 3 Fe.250x) HOBNT. 22y, dzs_%noin
afagidzdg( 203¢e 0ed ROTeW - WANIBT, esn cf)abasa‘

aoeééoi)e‘)m BT 3B VTIeD

[SSC MTS 2017]
(b) 20%
(d) 18%

(a) 19%
(c) 21%

72. Price of a commodity has increased by 60%. By

what per cent must a consumer reduce the

consumption of the commodity, so as not to increase
the expenditure?

WBIITHOVINTOB  DEDOWI)
BRD

SYBO. iR 3e
$3000  WWE0HRY
BoreIe?

caabd DeBToID)
[AFCAT 2017]

1
(a) 20% (b) 18 %

162‘7 d 161‘7
(©165% (d) 16 %

75. The price of onions has been increased by 50%. In
order to keep the expenditure on onions same, the
percentage of reduction in consumption has to be

S, W3¢ Be.500x), 03N, SHYdh Hed
mg,mg{ wode 0ed @dZRY W, WYBAOS 3833
BeBEemed) DTS, Be0BTIeD

SRS B 60% FePd. ISy FYTOS [SSC CGL 2012]
1
MB3D ICRNY WYBAR) Tedme o), 38D (a) 50% (b) 337 %
Srogeiea? [SS CCGL2011] (c) 33% (d) 30%
(a) 37% (b) 37.5%
(c) 40.5% (d) 60%
Hage |
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